Chapter 8: Techniques of Integration
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8.1 Integration by Parts
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RCMM,{ ! There are four choices available for v and dv in Example 1

1. Letu = 1 anddv = xcosxdx. 2. Letu = xand dv = cosx dx.
3. Letwu = xcosx and dv = dx. 4., Letwu = cosxand dv = x dx.
-\
Vi) ) SUL) 83 (M‘Jﬂ) Ly oF _;uJ) /t«f/') RIS
Lwr_J] Al ERC Tl ste A

A~ -

M.&{C/JJ Z/W sf/V&WQWf(Mu/LfJ)NwN

Z’,\.J)\}-’\A,J) NJL,’ /L/Jw) G L Wy eRd Sl Lot i d,(,\,q)

2 S
/xca59< AX = X Cesx — Xceosx — X S“’\XC;)(

/'*)4))/\»2)/0/ »Jkg/tfzf \;;S),.Ps\ﬂr\ ”L,?sxzpr\_)
/W‘C/J)J"W'?)"DJ Vo= fxrojxg(;( )b”y;—(’\f C‘;;\

/E)\"P«»}’y/ 5}?_/\; 3\»5) w,,y oL \s 1N

'—I/LUIZL: L”)OJJDM&U /M,J!//‘,\.—?,\r' ,f\
S p z\r:..r\sM AL, {w,,au/f.\uz\.: = AD ArtasS)
ywymdﬂ¢w2&,;\9ﬂfugyw VAA YRN8

ad‘) dx .3\;‘3,\_-; dv /L—r\(V/(\sd—\—j_, RAYRVAT
,J)L’”‘J/)J’MJ"'.}L{’WL'_,&&C o \_Juﬁ'_) JD\LAJ\

A:U-:%.}J\
2 /’Mx d x




A\

3) fx'ce?‘Jx (Ra("cafcc/ (,ch)

2 X
T Ra U = X CJ\/.’—‘ @CJX
du=2xdx V=
- 2 x 2 x X
ﬂc Jx:x@—-{xcéx S A0
x X
Consid ey [erx oond  Aule U =X J\/;eofx
du=dx vV = &0

x x
/xeo/X: X & —IG%JX: xex—ex-l-C
cAs NS (3e) P P
fngJx:xzc“—z(%cx—c7)+ <

x 2
:[e (5= 2xre) +<]

T Lw{ou’ Tn'tcyru‘(‘um

TS //;'u ST ;,é’/wyww,‘m—r @Laowv Lois
),?/%ufmr Jdv A)\))/J«w)m’yw’%\ AL U DN e

AeM/J%/JA, 5;?/\/ b’ww‘&'w%b /,._;W\&p (\..\
X - "‘OJ("/)Z%JJ /‘)’—/}—P
2
/966 X £x) 3\(x)
T =
2 x

x e
x x
2 X _ e
,\gx

2
\ b%
o S
P%

2z X X X
= X —2Xe 4+2c¢e +C Z (X Z?<+Z)+C]




L’ AN
/{) /)( CanJX qcf*) 2A<)

CTos X
\Sw\'x

2 c—Cosy
i ?< =
2Y x ~ - S~ X
24 Cos
/& x
o $;\/\7C

q 3 2
= X Swx 4 4 X Cosx 12X stmx —24 x5 X 42y siwx +C

Integration by Parts Formula for Definite Integrals
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